
Vzorce pro integrováńı

∫
a dx = ax + C a ∈ R (1)∫

a · f(x) dx = a

∫
f(x) dx a ∈ R (2)∫

f(x)± g(x) dx =
∫

f(x)dx±
∫

g(x) dx (3)∫
f(ax + b) dx =

F (ax + b)
a

+ C a, b ∈ R (4)∫
u(x) · v′(x) dx = u(x) · v(x)−

∫
u′(x) · v(x) dx (5)∫

xa dx =
xa+1

a + 1
+ C a ∈ R \ {−1} (6)∫

1
x

dx = ln |x|+ C (7)∫
f ′(x)
f(x)

dx = ln |f(x)|+ C (8)∫
sin x dx = − cos x + C (9)∫
cos x dx = sin x + C (10)∫
1

cos2 x
dx = tg x + C (11)∫

1
sin2 x

dx = −cotg x + C (12)∫
ex dx = ex + C (13)∫
ax dx =

ax

ln a
+ C a > 0 (14)∫

1√
1− x2

dx = arcsin x + C (15)∫
1√

1− x2
dx = − arccos x + C (16)∫

1
1 + x2

dx = arctg x + C (17)∫
1

1 + x2
dx = −arccotg x + C (18)

Pozn.: v celém dokumentu plat́ı: C ∈ R.
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